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Shape functions take the value of 1 at one of the element dofs
(NOT NODE) and zero elsewhere
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Solving the same problem but now with element-
centered approach

This is how we did it before
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In the "local" of "element-centered" approach, we take care of all
things pertained to one element, and then move to the next one.
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To fully utilize the element-approach we need to define two maps:
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These two maps are not the same:
- LEM provides the element geometry
- M maps local to global dofs
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- LEM provides the element geometry
- M maps local to global dofs
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Let's go back to our bar problem and use the M map 1’]] o AR lenandy Verra A
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How do local and global K's and F's are related?
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So, we learned how to assemble local element stiffness to global elﬂnent stiffn
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